
x  14PcsA

M6x60

x  4PcsB

M8x60

x  1Pc

x  4Pcs

x  1Pc 1 2

3 4

A
A

A

A

A A
A

A
A

A
A

A AA

B
B

x  4Pcs

x  2Pcs

x  2Pcs

P 1 of 4

50kg

ARTICLE NO: 27500037-09

AUFBAUANLEITUNG

SKUPŠTINA UPUTE



B

A

C

M6 x 70

M6 x 60

M6 x 50

x 2pcs

x 2pcs

x 2pcs

x 5pcs

x 1pc

x 1pc

x 1pc

x 1pc

x 1pc

C

B

B

B

B

1

3

2

4

11 22

P 2 of 4

100kg

ARTICLE NO: 27500037-09

AUFBAUANLEITUNG

SKUPŠTINA UPUTE



B

A

C

D

D

M6 x 70

M6 x 60

M6 x 50

M6 x 35

x 2pcs

x 3pcs

x 2pcs

x 5pcs

x 1pc

x 1pc

x 1pc

x 1pc

x 1pc

x 1pc

C

B

B

B

B

11

3

22

4

P 3 of 4

200kg

ARTICLE NO: 27500037-09

AUFBAUANLEITUNG

SKUPŠTINA UPUTE



P 4 of 4

ARTICLE NO: 27500037-09
AUFBAUANLEITUNG

SKUPŠTINA UPUTE


	Page 1
	Page 2
	Page 3
	Page 4

